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Instruction: First 15 minutes are allotted

for the candidates to read the
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Note: 1) All questions are compulsory

ii) Question No. 1 1s Multiple Choice
type. Question Nos. 2 lo 6 are

Definite Answer lype O be
answered 1n one sentence cach

Question Nos. 7 to 11 are Very
Short Answer type to be answered
in about 50 words each. Question
Nos. 12 to 14 are Short Answer
type to be answered in about
150 words each and Quesuon
Nos. 15 to 17 are Long Answer
type to be answered in about

300 words each.
iijj Marks allotted to each question

are given against it.
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[ Multiple Choice Type Questions ]
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fog foam sfufam’ wa ofta gan 2

i) 19579
iy 19617
i) 1956
iv) 195571 1

Four options are given in every part of

the

following question of which only one

is correct. Choose the correct option and

write it in your answer-book :

a)

642191

What is new name of Planning
Commission ?

i) Indian Planning Commission

iij Planning Commission

iiij NITI Commission

iv] None of these. 1

| Turn over
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b)

d)

642191

Determinant factor of caste is

i)  Occupation

i) Birth

iii) Dharma

iv) Marriage. 1
Author of 'Marriage and Family in
India’ 1s

i) P.V. Kane

i) P. H. Prabhu

iiij) S. Radhakrishnan

iv)] K. M. Kapadia. 1
Hindu marriage i1s a

1) Social contract

1) Temporary relation

m) Sacrament

1Iv) Economic cooperation. 1
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e) When was Hindu Marnage Act

passed ?

1) 1957

n 1961

i) 1956

iv) 1955. ]

[ Fftaa st v )

[ Definite Answer Type Questions ]
2. 9w oY & T feraa ) 1
2. Write the names of four Purusharthas. 1
3. fog gmifos =aen & SO = T 3T
o 5 e YT F WA & 2 1

3. In which age-group a man lives in
Grihastha Ashram according to Hindu

social system ? l
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4.

6y,

(1.

7.

7.

g # feA @ oagE A & gesn

it A !
Write any two nugor characteristics of a
village. |

‘stifer ) vl srgaE’ qEEw & o@h w8 7]

Who 1s author of the book 'Caste Class

and Occupation’ ? 1
YR 9RER &1 WO E /e 2 |

What is the traditional form of Indian

family ? 1
[ S Y IwT W |
[ Very S8hort Answer Type Questions ]
feg faaw & 3Pvy " 2
Explain the aims of Hindu marriage. 2
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10.

10.

11.

11.
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WA AmTHE GeA & IEEE MR

e | 1+1

Explain two philosophical bases of

Indian social organization. 1+ 1
a1 U A § F 3 o 2

Write two differences between caste and

class. 2
rfey e W QY AT i fefE | 1+ 1

Write [wo characteristics of the caste

system. 1+1

AT % MR W HgE qfteR & q TER
AT | 1+ 1
Explain the fwo Ttypes of joint familv

according to authority. 1+1
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[ Short Answer Type Questions ]

WA B e g % vy w4

12, ai i
Explain the main causes of population
growth in India. 4
13. TF TRME  AMETH, 1961 @ faEer
I |
4
13. Discuss the Dowry Prohibition Act
1961.
4
14, ﬂnﬂﬁm“ﬁwaﬁﬁﬁﬁrﬁwhé?gmw
I U HIAY | :
4
14. Explain the major causes of low position
of women in India.
4
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16.
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| foreget vt v |
[ Long Answer Type Questions ]
SRE § sl A @ gens oA
it | 6
aerar
qRE § srgfed A FOPTE gEEns
&1 e it | 6

Discuss the position of Scheduled Castes

in India. 6

OR

Explain the major problems of Scheduled
Tribes in India. 6

W?ﬁﬁm*ﬂdﬂmﬁwﬁ’@ﬂﬂﬂ

U I | 6
Fqar

gt foera § TR WHEGET & HEe @

IeoIg HITT | 6
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16. Discuss the role of Panchavat Raj in
rural reconstruction. 6

OR
Describe the importance of cooperative
societies in rural development. 6

17. ¥RA 9 Hfeen Hoam W o e fohEn) 6
FHeTar

AT AME & TS T AT W gEw

ml 6

17. Write an essav on women welfare in

India. 6
OR

Throw light on the objectives and scope

of social forestry. 6
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